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Purpose: Medium power amplifier applications.

F R UM FRAG, Al i LR R ke e, L5 2SD2118 (3DG2118) HoAb.

Features: Low Ve, excellent DC current gain characteristics, complements the 25D2118(3DG2118).

% FE 2% /Absolute maximum ratings (Ta=25°C)

SRR L e
Symbol Rating Unit TT ]
Ve -30 v | O
Vero 20 V w U’_i_ms
Vmao -6.0 vV :(_li_'l :f
IC _5 A Thiensions 1o MiBmmeters Dimensscns In Milliseters
Sysbol - o Symbol = .
Lo ~10 A e e e
R Lo |
*P; (Te=25°C) 10 W ST w T ew T & T aw T o
Ty 150 C 5l#: 1.B 2.C 3.E
TStg _55N150 OC T0_252
*mounted On40X40X0. 7mm ceramic board.
T 40X 40 X 0. Tmm (K F AR L.
P BEZ 4 /Electrical characteristics (Ta=25C)
EACEN
ZHR T MR A Rating Li¥iv
Symbol Test condition B/AME | AME | AR H | Unit
Min Typ Max
VCBO IC:_SO u A IEZO _30 V
VCEO IC:_l. OmA IBZO _20 V
VEBO IE:_SO u A ICZO _6. O V
ICBO VCB:_ZOV IEZO _0. 5 n A
IEBO VEB:_B- OV ICZO _0. 5 n A
hFE VCE:_Z. OV IC:_O. 5A 82 390
*VCE(sat) 102_4. OA IB:_O. lA _1. 0 V
i Ve=6.0V I~=50mA f{=30MHz 120 MHz
Cob VCB:_ZOV IEZO le. OMHZ 60 pF

*:measured using pulse current.

s KAt
hee 2384 /hee Classifications: P: 82~180 Q: 120~270 R: 180~390
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